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919 fae e g RENIA (CHILD DEVELOPMENT AND PEDAGOGY)
& : R 797 % o7 &7 & [ qag ST 4wy g

Answer the following questions by selecting the most appropriate option.

1.

g

od

[

|

Tedl g Qe fehe S ?

(1) daex

(2)

(3) wiEE e

(4) TShe fom o |EET

B e ) £ | | i FIR £ G R
& A R Shavem R,
GMTTs oI dMioe &9 9 %@f
e &, HEal ©

(1) St~ Jaes

(2) WEel FfaEs

(3) oM AT

(4) TARTHS HAIAE™

frefefe & @ 9@ oo
RE 7&f B 7

(1) gean (2) 9@
(3) =™ 4) fasmm

I8 ha" der 6 “Tpeiaen &9m,
qE, T o O &l oreer 8 7
(1) ffem wgo w@q

(2) B gd

(3) o To EEWhiE

(4) 9 e

frefofeg & @ @F-91 W 30 W&

gﬁﬂﬁ@ﬂﬁ?ﬁrm&m & Jeadq W
?

(1) g9 G919 ST

() e st

(3) 9T A

(4) Tgfasies S
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Who developed the first intelligence
test ?

(1) Lavator

(2) Sanguin

(3) Francis Galton

(4) Alfred Binet and Simon

A branch of psychology which
studies how people change physically,
cognitively and socially over the
entire life span is known as :

(1) Clinical psychology

(2) Counselling psychology

(3) Developmental psychology

(4) Experimental psychology

Which of the following is not the
innate motive ?

(1) Safety (2) Hunger
(3) Thirst (4) Rest

Who stated that "Adolescence is a period
of stress, strain, storm and strife" ?

(1) William H. Barton

(2) Stanley Hall

(3) J. A. Hadfield

(4) Jean Piaget

Which of the following is the highest
level in hierarchical theory of
learning given by Gagne ?

(1) Problem solving learning

(2) Principle learning

(3) Concept learning

(4) Multiple discrimination learning

P.T.O.
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6. fefeiad & @ P9- A A= 6. Which of the following is the non
P IEd THHID & projective technique of personality
measurement ?
(1) RIECR GRS (1) Association technique
(2) GEEIEGE Tty (2) Sociometric technique
(3) & ufafy (3) Construction technique
4) Eﬁ fafer (4) Completion technique
1. frefoRed & @ PE-T1 o0 AR 1. Which of the following is not the
W P T TE © 7 characteristic of good mental health ?
(1) |idRee aRYe (1) Emotional maturity
(2) AL (2) Self confidence
(3) T (3) Intolerance
(4) STTKH EI\RIFFT & & (4) Capacity of self evaluation
8. MR # ¥ HE-AT I S 8. Which of the following concept is
s = o dseHe fashe Risr not introduced by Jean Piaget in his
¥ @i ? Cognitive Development theory ?
(1) FAHEAABIT (2) FHTEIB (1) Assimilation (2) Accommodation
3) IEIREA 4) H@?ﬂ (3) Symbolic (4) Equilibration
9. F=foiRag & @ V-1 TF IO AR 9. Which one of the following stage is
3 fopg & e & 99 W =W not prescribed by James Draver in
ReiRg s § § 78F 2 ﬂllle ctont(()axt of development of
. character ?
(1) ot 3 SRS (1) The stage of crude emotion
(2) W F AT (2) The stage of sentiment
(3) SATHTHN I (3) The self regard stage
(4) URURS® =X & SINISE] (4) Conforming conventional stage
10. NS 9™ ® Hﬂm—ﬂi@ﬁ?ﬁ 10. Who was the founder of socio-culture
Rrsid & % & 3 7 theory of cognitive development ?
(D) SF @™ (2) 9§11 (1) Jean Piaget (2) Jerom Bruner
(3) T AZMCEH (4) PEATT (3) Lev Vygotsky(4) Kohlberg
11. F=loifag & 9 -9 afde A\ 11. Which of the following is not the
& uaq ufefy 78 2 ? type of projective technique of
(1) 9= qead e personality mea'sur.ement ?
: (1) Word Association Test
2) W Em SURE (2) Woodworth's Personal Data Sheet
() ar Eﬁ e (3) Sentence Completion Test
(4) A BYFH Tl (4) Thematic Apperception Test

Level-3/311
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12. fy=fofed & § F9-@1 ded T
gdIed ERd & TAHS [AA9E Bl

TERX TE 2 7

(1) s (2) T&r ==

() Wt 9@ (4) Seart
13. 8 g @ & WU o S

e (Hied) AR & Tl § 7

MH285a8 @ 0F4a

(3) 16 ¥ 18 a8 (4) 3 § 10 a9
14. FHfefag & § S9-9 feiaenr &
faqrar 72 & °?

(1) ATIRET & IR HA
& 20% B Bl

(2) = &= @ vgiy sedl o

FA KR B 9]

(3) YEHT TE T B
(4) qFTYH A SO X
W Ugd SN Sl
15. FHefag § § @-@ SiReRT &
o7y faQwar ® ?

(2) IRERT @ger MRaRar S B

(3) ARBIRG HIER & Wi HOR
Bl Bl

(4) ARPROT A= F Feil qREeH
FHA Bl

16. W%ﬁg@aﬁa«w % AN

qMfe  Hear d SRl
g@aﬁmﬁmwsﬁr%?

(1) 529 67 (2) 369 51
(3) 209 35 4) 209 A=
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Which of the following is not the
type of dynamic trait of personality
given by Cattell ?
(1) Attitude

(3) Sentiment

(2) Urge

(4) Conservative
For which age group the Children
Apperception  Test (CAT) is
applicable ?

(1) 2to 5 yrs. (2) 0 to 4 yrs.
(3) 16 to 18 yrs.(4) 3 to 10 yrs.

Which of the following is not the
characteristic of Adolescence ?

(1) Weight of muscles 1s 20% of

total weight of body.
(2) Tendency of day dreams
increased.

(3) Vocabulary too increases.

(4) Mental abilities reach at their
highest level.

Which of the following is the false

characteristic of motivation ?

(1) In motivation, behaviour of
person is goal oriented.

(2) Motivated
continuity.

behaviour does

(3) Nature of motivated behaviour is
rigid.

(4) Motivation does energy changes
in human beings.

According to Stanford-Binet IQ
scale, what is the IQ range of low
mentally retarded children ?

(1) 52t0 67  (2) 36to 51
(3) 20to 35  (4) below 20

P.T.O.
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17.

eY

Td & T Hsid & ufdues ®i
g ?

(1) @t I9

(2) BeFgTRA

(3) & W

(4) Sflo WA B

fr=ifeifeg & & H9-91 % omeEal @l
faQraetl & det ¥ 7o wuA R ?

(1) omeg fafiee Rafd & @ @@
PRERIE

(2);@&3@%@%#@
|

(3) oTed STl qXe @ e yae R

(4) MEd Bad GO URRfRT 89
W IEfid &l 2

frfofag & & f9-a1 Rara ftem

gi o fowral @ gEfed 78
?

(1) AR ST H s

(2) e iq & s

(3) GHM 919¥d & [¥a

(4) TGO A RS

frfafag & @ &9-@1 9FeEd @
AT S ®1 o W 78 & 7
(1) S FTgferan Rrsr=
(2) AWM F 9y s

(3) STgsfad srgfehan &1 s
(4) FE wd e B s

21. Frefdiad & & @A oMy

TGS %1 eI el &

(1) Gl FEeR W &AM DI Hl 8l

(2) G Al OX e i
HAT &

(3) i Fee W dHiHd B

(4) J69 [EBE H A=A R HEd o
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Who was the propounder of
Anticipatory theory of play ?

(1) Karl Groos

(2) McDougall

(3) Herbert Spencer

(4) G. Stanley Hall

Out of the following which one is

the wrong statement in context of

characteristics of habits ?

(1) Habit is automatic response to
specific situation.

(2) Habit 1s acquired through
heredity.

(3) Habit is a well Ilearned
performance.

(4) Habit is performed only under
similar circumstances.

Which of the following theory is not
related with the theories of transfer
of learning ?

(1) Theory of mental discipline

(2) Theory of rote memory

(3) Theory of identical elements

(4) Theory of generalisation

Which of the following is not the
other name of Thorndike's theory of
Connectionism ?

(1) Stimulus response theory

(2) Bond theory of learning

(3) Theory of conditioned response
(4) Trial and Error theory

21. Which of the following is behavioural

perspective of modern psychology ?
(1) Focuses on overt behaviour.
(2) Focuses on cognitive processes.

(3) Focuses on the biological events.
(4) Focuses on critique of male bias.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

eY

22.

Frfoied & @ $M9-°1 06 qavarEm
B faQwarel & gt § Tgg FHes B 7

(1) JAERT ST Bret &l

(2) JAwgfT aga aAfFemen e 2
(3) Javgr STeuaI® il ol
(4) FersgRy AN @HE B

23. fER, ol @9, 9 @R e S=

qHe e 9

Sl S
TiafafeE @ wer S R

(1) g7 =&

(2) G54

(3) 9

(4) vEE/aTe

frefofeg & @ #9-91 F09 o9Y
g7

(1) Ifrm ws ufkar & 5 5 SamE

(2) A ufRE Hed IERTE el
Bl

(3) ARFE & & 9F S D

(4) gemghy T R feael & aw
BN 99 FEeR & URgad ot
e 99 S

25. g § § H9-91 So dio frame

N e g & RfatE aew & o
e fAuas] YR T8 © !

(1) Srpicrn
(3) Wikl

(2) SOt
(4) HAGRRS®
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Out of the following which one is
the wrong statement in context of
characteristics of instincts ?

(1) Instinct is innate.
(2) Instinct is very powerful.
(3) Instinct is ephemeral.

(4) Instinct  is
disposition.

psycho-physical

The mental activities associated with
thought, decision making, language
and other higher mental processes is
called :

(1) Visual images

(2) Cognition

(3) Concepts

(4) Propositions

Which of the following is the false
statement ?

(1) Learning is a process not a

product.

(2) Learning process 1is always
purposeful.

(3) Area of learning is broader.

(4) Behaviour changes through
instincts and reflex actions are

also considered as learning.

Which of the following is not the type
of one of the component content
under three dimensional model of
intellect given by J. P. Guilford ?

(1) Figural (2) System

(3) Symbolic (4) Behavioural

P.T.O.
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26.

eY

. Frefafed § & a9 @i & a@
H e b FH ©
(1) M — g7 TR — R —
REEIR]
(2) §T: RO — AW — gRT —
REEIR]
(3) FFm — T T — T@EH —
g
(4) HARFM — 9RT —> G TR -
REEIR]

27, GOSNl & 9N U9 H9ed @ foU

qRask Joad fAfyr @ AfueT e
fepar o ?

(1) A4 (2) T

(3) e (4) A

Peffes & @ dew o g

N CE e e B o G M I
T 78 T ?
(1) MO~ Siafeamn
(2) foremge
(3) g
(4) ST HHOM
29, ffafad & & 99 @ PH-@ WX
gaaeEl R g@ mfa & o7
el g/ RRE gar ® 7
(1) &89 (2) T’Yq
(3) T ey (4) o

Ty [y & S B & ?

(1) Sio o Jredas
(2) faweew goe
(3) frmve W
(4) So THo %ed

[8]
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Which of the following is the correct
logical order of elements of memory ?

(1) Learning - Recall —
Retention — Recognition

(2) Recall —  Learning -
Retention — Recognition

(3) Learning - Recall —
Recognition — Retention

(4) Learning — Retention —

Recall — Recognition

27. Who propounded Brain storming

method for fostering and boosting
creativity ?
(1) Torrance
(3) Osborn

(2) Myres
(4) Gordon

Which one of the following is not
correct way of releasing pent up
emotional energy ?

(1) Substitute responses

(2) Displacement

(3) Regression

(4) Self pity

Which of the following structure of
mind  directed according to
Hedonistic and pleasure principle ?
(1) Id (2) Ego

(3) Super Ego (4) Choleric

30. Who was the propounder of psycho-

analytical method ?
(1) J. B. Watson
(2) Wilhelm Wundt
(3) Sigmund Freud
(4) J. M. Cattell

Level-3/311


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

= |V

[9]

GET IT ON
Google Play

[A]

[T - II (PART - II)
A7 (= g 37T [LANGUAGES (HINDI & ENGLISH)]
& (HINDI)

& : e 797 % o7 &7 & [ qag ST [dwey g

31. H-O1 I GAOgEE  ofEd &

I B 7

(1) g @ forn, 38 9 gEei

(2) e & THE B AT & B

(3) T w95 fo T, o el
TR &

(4) S G9-TEET S

32. ofgfeg fodm = FW IHd fowed
Tei~y

(1) fafy — g
(2) @@ — oo
(3) X — 7
(4) |/ — Bg
33. T Yo YT @Er dwiR &
e B

(1) 399 B | I a1

(2) 3EA | gel 9 | g
(3) 3TcAEh @R BT

(4) JIEK T T

3. = & § @@ @Y W 9= dHA-A
g7

(1) g + ReX = grafax

(2) T& + IRA = 9

(3) ST + W = AT

(4) T + Y = TAEAT

Level-3/311

35.

frfofag af & ded § PW-
forepea oI ® 7

(1) I — dered, FUel, 99

(2) § — T, g6, FAgTgal

(3) 9 — 3egF, =Y, FT

(4) ¥ — g, STIAT, ST

36. W W g q FgAfa o @

T T
(1) ARMT = AR + 3
(2) qHH = qEF + 7

(3) UEd = X + 7
(4) afarey = faftre + 3

37. I 9 g =&t & dad § d9-a

ferbed o7 & 7

(1) o — s, qiRwieEs, wgyor
(2) Al — YR, AN, HAELIR
(3) ¥ — g, FRBR, AT
(4) "fT — ot Site, S

38. YE-VH H IR W FHIT FH GAC

(1) Tl — de 9
(2) e — A9 IR
(3) 99 — TG I

(4) TEHITER — & I=
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. TE-fE @@ gfte § dN-ar faee

39.

FGITR 7

(1) gHF — YA & FHIA arel
(2) TEEE — @ ¥ gl g8 AR
(3) Tagah — I JTH H TR

(4) EMT — @S ) @Ak
EISIRCH

40. M9 ¥ 9 @I A Teaiy ¢

(1) g — 379 § FiHa weamas
GEl
(2) Fetar — wam | Ffia AaaEs
GEl
(3) ARl — e d@s @ Wi
ferSrer
(4) qfemel — fQiver | R

HATedrerh Gl

41. ¥ % e § HH-A @7 G 78

R ?
(1) Tl gaE b — F &l andt
AT

(2) ST e AT @ A —
SEEA BN GX SAfoSTd BT

(3) SR T P oA — THHAH TEN

(4) BT F GS H A6 q e —
SRSl &l HHSIT BIAT
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42. ‘giF e Gaar 3 I9d A @l

FHHar H TR

(1) i b Qe

(2) |feF fohdbe & Qaar 2

(3) R | fohebe W ST Tl
(4) G % 30 Bhbe G S 2

43. 91 4 4 fog famew @ gl fRamd

‘IFRHE T 7

(1) =, GEBTHT, e
(2) 3T, To, T
(3) &I, @M, |

(4) T, IS, e

44. T & GeA ¥ H-A1 ey gafed

7 &7
(1) g% | g3 R B
— foeiiesTeas
(2) B o7 1 Fm & T
— Feygs ae
(3) & AT ® g8 ST I & ST
— TWETS q
(4) T T A9 A AT @I @I
— Hphars ared
45. TG, Ah, MG U Fran wHgdrE
g7
(1) &t (2) TX
(3) Hew (4) f&e
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Direction : Answer the following questions by selecting the most appropriate option.

46.

Choose the correct option :

Transformation from Simple

sentence to Complex sentence :

A lost moment is lost forever.

(I) A moment which is lost is lost
forever.

(2) A lost moment is forever lost.

(3) Forever a lost moment is lost.

(4) No moment is lost forever.

Choose the correct option :

Transformation of sentences : Simple

to Compound

He must work hard to make up for

the lost time.

(I) He must work hard, cover the
lost time.

(2) Making up for the lost time he
must work hard.

(3) He must work hard and make up
for the lost time.

(4) Working hard will make up for
the lost time.

Select the correct conjunctions for
the blanks :

We will come ........ it rains ......
not.
(1) if, and (2) even, but

(3) whether, or (4) either, and

Choose one word substitution for the
following :

A word spelt and pronounced similar
but differing in meaning.

(1) Antonym (2) Homonym

(3) Synonym (4) Pseudonym

Level-3/311

50. Change the following sentences into

Reported Speech by choosing the

correct option.

"If you want to smoke you'll have to

go upstairs." said the landlord.

(1) The landlord told him that if he
wants to smoke he'll have to go
upstairs.

(2) The landlord told him that if he
wanted to smoke he would have
to go upstairs.

(3) The landlord said that if he
would want to smoke he would
g0 upstairs.

(4) The landlord says if you wanted
to smoke you would have to go
upstairs.

Change the following sentences into
Reported Speech by choosing the
correct option :

"We're waiting for the school bus,"
said the children, "It's late again."

(1) The children told they're waiting

for the school bus and it is late.

(2) The children said they were

waiting for the school bus and it
is late.

(3) The children complained that
they were waiting for the school
bus and it was late again.

(4) The children complained that
they were waiting for the school
bus and it is late.

P.T.O.
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52. Change the voice from Active to

Passive. Choose the right option :

We shall discuss the
tomorrow in the meeting.

question

(1) The question will be discussed
tomorrow in the meeting.

(2) We will
question
meeting.

the
the

be discussing
tomorrow  in

(3) We shall be discussing tomorrow
the question in the meeting.

(4) The question shall
tomorrow in the meeting.

discuss

53. Choose the option which has error in

it :

(A) You should
(B) tell to me
(C) exactly what

(D) happened there
(1) A 2) B
3) C 4 D

Select the correct preposition to fill
in the blank :

They live ........ the same roof.

(1) in

(2) before

(3) after

(4) under

Select the correct meaning of the
underlined phrasal verbs :

I cannot make out the meaning of
this verse.

(1) discovery

(2) understand

(3) reading

(4) start

[12]

GET IT ON
Google Play

Choose the correct form of tense

given in the option :

She (play) the sitar since 6 o'clock

this morning. He just (stop).

(1) playing, stops

(2) was played, stopping

(3) has been playing,
stopped

(4) have been playing, stopped

has just

57. Choose the correct meaning of the

underlined idiom :
He is friendly to the minister, he
jumped the queue and got promotion.

(1) replace something

(2) hopping

(3) blame somebody

(4) get something out of turn

Select the correct preposition to fill
in the blank :

He broke the jug ....... a hundred
pieces.

(1) in (2) into

(3) over (4) about

Select the correct infinitive form of
the given sentence :

Seeing is believing.

(1) To see is to believe.

(2) Seen is to believe.

(3) To see is believing.

(4) Seeing is to believe.

Select the correct tense form :

The car (belong) to my mother. She
(use) it today to take Tom to the
dentist.

(1) belonged, is using
(2) belonged, using
(3) belong, used

(4) belongs, is using

Level-3/311
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[A]

AR - ITI (PART - III)
9MY 3T=4 (GENERAL STUDIES)

B ARG, i STEHAT T4T 9T S U9 SIS (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G. K. & AWARENESS)

& : R 797 % o7 &7 & [ qag ST 4wy g

Direction : Answer the following questions by selecting the most appropriate option.

61.

frdl MiRed f2 § MONKEY &
XDIMNL fe@n s|, @ TIGER &
4 foren s ?
(1) SDFHS
(3) QDFHS

(2) SHFDQ
(4) UJHFS

62. I fRd ffem Yot & 9 * 3 = 36,

10 %6 =64,9 % 1 =25, a 3 Y
X 23 * 3 % AN FT SR 7

(1) 169 (2) 52

3) 32 4) 576

63. ¥ 1988 ¥ 15 STTERS FHAR Hl HAT

T T, @ g8 1989 # TR fRE "emEn
T oar ?

(1) IFER (2) HIER

(3) TEIR (4) PR

o SOY @ oiR 10 fFf =war @
Tef ¥ 6 fFdl aRmr @ o T 3
3% A 3 il @ &l T =
3l 9 98 AU RN fg @
fepar foprdt e fhe Ram H 2 7

(1) 5t aftem (2) 5 ot ST

Q) 7 @ (4) 7 R aiEm
U RF-RNT A 9 B, T Giad d
g #1 A, B & gt IR SR E, C
% S SR & O A & 3t &R B
B, D % 3@ X 81 HN-91 4 ThaH
g § 7 ?

(D A (2) B

3) D 4) E

Level-3/311

61.

In a certain code MONKEY is
written as XDJMNL. How is TIGER
written in that code ?

(1) SDFHS (2) SHFDQ

(3) QDFHS (4) UJHFS

62. In a certain pattern, if 9 * 3 = 36,

10 * 6 =64, 9 * 1 = 25, then in same
pattern what is the value of 23 * 3 ?
(1) 169 (2) 52

3) 32 (4) 576

If the Independence Day in 1988 was
celebrated on Wednesday. On what
day was it celebrated in the year 1989 ?
(1) Monday (2) Tuesday

(3) Thursday (4) Friday

Vijay walks 10 km towards North,
from there, he walks 6 km towards
South, then he walks 3 km towards
East. How far and in which direction
is he with reference to his starting
point ?

(1) 5km West (2) 5 km North-East
(3) 7km East (4) 7 km West

65. There are five different houses A to

E in a row. A is to the right of B and
E is to the left of C and right of A. B
is to the right of D. Which of the
house is exactly in the middle ?

(1) A (2) B

3) D 4) E
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66.

qelpdl B THh Ul § e & e
& 8al ® SR O B e A
1741 % 3 3 o9 W SEd-9ed §
@ e s ¥ 144 WM WA SR
R Ui & w e aefedt €

(1) 27 (2) 29
(3) 32 4) 30
0.3467 +0.1333 GHM 8T :
(1) 0.48 (2) 0.4801
(3) 048 4) 0.48

& ST A ST 98 T BN
127, 128, 136, 163, 227, ......
(1) 352 (2) 350

(3) 357 (4) 341

69. AT A H o ‘T, B H I

‘e, C @ o ‘A, D & o
R K S I 5 S e e RS RS I |
T B ?
1I8A12C6D2B 5 =

(1) 25 (2) 27

3) 15 4) 17

e & T SRR gEen ¥ 8 g e
H T B

a —cdaab —cc —daa — bbb — ccddd
(1) bdbda (2) bddca

(3) dbbca (4) bbdac

711. BFE @ % oWiga ok aRdd &

BSIheT BT STUT BT
(1) 1:4 ) 4:1
3)1:2 4 2:1

11, 11.11, 0.11, 0.011 & HoHoYo
T BN 7
(1) 0.011
(3) 0.11

2) 1.1
4) 0.111

Level-3/311
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In a row of girls, Shilpa is 8th from
the left and Reena is 17th from the
right, if they interchange their
positions, Shilpa becomes 14th from
the left. How many girls are there in
arow ?

(1) 27 (2) 29

(3) 32 4) 30
0.3467 +0.1333 is equal to :
(1) 0.48 (2) 0.4801
(3) 048 4) 048

Find the next term of the number
series :

127, 128, 136, 163, 227,
(1) 352 (2) 350
(3) 357 4) 341
If A means 'plus’, B means 'minus’,
C means 'divide by, D means
‘multiply’. Then what will be
simplified value of
1I8A12C6D2BS5=?

(1) 25 (2) 27

3) 15 4) 17

Find the missing letters in the given
letter series :

a —cdaab —cc —daa —bbb — ccddd

(1) bdbda (2) bddca
(3) dbbca (4) bbdac

71. The ratio of the areas of the incircle

and circumcircle of a square will be :
(1) 1:4 ) 4:1
3)1:2 4 2:1

What is the HCF of 11, 11.11, 0.11,
0.0117?

(1) 0.011
3) 0.11

2) 1.1
) 0.111
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2) 16
) 10

(1) 18
3) 12

& @A 132 HieX ud 108 Hie
ol TH-gHR d foes R § o @
g et 9w @ o 32 feHvEver
q gl W 40 ReEfaca B Re
g § 9 TH-gE Bl IR HT A 7

(1) 880 (2) 10 Fo
(3) 12 ¥o 4) 11 ¥o

A 7 955 7 FHEA B 8 " H &
wbd ¥, 70 9 70 HRIA F W

§ fobqm guve T ?
(1) 8 gue
(2) 560 g
(3) 56 U
(4) 70 gue
el 98] & 9@ 20% ¢ S 8,
AT fhEl ST &R 9T JUHRT
7 fohae WS @ A B G 9N B
3% @9 H $3 g & @ ?
2 2
(1) 162% (2) 152 %
2 1
(3) 175% (4) 16 %
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[A]

The numbers in the following question
numbers are written according to
certain pattern row-wise or column-
wise. Identify the pattern and find
the missing character accordingly :

6 1 | 25

8 6 16

12 5 ?
(1) 18 2) 16
3) 12 ) 10

Two trains 132 meters and 108
meters long are running in opposite
direction, one at the speed of 32
km/hr and another at the speed of 40
km/hr. In what time will they cross
each other ?

(1) 8 sec.
(3) 12 sec.

(2) 10 sec.
(4) 11 sec.

75. If 7 carpenters can make 7 chairs in

8 hours, how many hours will 70
carpenters take to make 70 chairs ?
(1) 8 hours

(2) 560 hours

(3) 56 hours

(4) 70 hours

The price of any item is increased by
20%. Find the reduction in the
consumption of the item by a
consumer so that there is no increase
on his expenditure :

(1) 16%% ) 15%%
3) 17%% 4) 16%%


https://applink.adda247.com/d/XhqWf9lSap
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11.

eY

242424242 T °F F|T BRT 7
(1) 0 2) 2
(3) 1 (4) 231/32

% 10,000 =pgls &1 & &9 H 5 a
T A & 9 8, a 20 9§ 9¥E
SHl TRgfs &N B W ¥ T@ 9
feberaT &1 S ?

(1) 240,000  (2) T 60,000
(3) 80,000  (4) T 1,60,000
AT BaH 91 10% a9 ¥ 39 & IRk B

AW CH 0% & q 99 & e CH

gEl & gd 990 IR &), Al §aET A
39 gl B e § wder o ?

(1) 3900 (2) % 1,000

(3) 1,200 (4) % 950

215 YU drcll Tedh e § -l
YU S:68 S ?

(1) 12 ) 11

3) 13 4) 14

BRI AID YRR BT TGRS AT
ST R

(1) G Ud S @9 3R

(2) BRI At SEEH! g

(3) BRATT G&pa HBEH &N

(4) =Raen & gy el 3]

82. Freifafad & & &M 2021 # ‘ggw

o7 A<t & 7
(1) ST 9EE ad
(2) dr= R
(3) XA R
4) g e

Level-3/311
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7. What is the value of \/2\/27 V2V242 7

(o
31

2) 2
(4) 231/32

A sum of ¥ 10,000 deposited at
compound interest becomes double
after 5 years. After 20 years the
amount will be :
(1) 40,000
(3) ¥ 80,000

(2) % 60,000
(4) T 1,60,000

79. A sold a watch to B at a gain of 10%

and B sold it to C at a loss of 10%. If
C paid X 990 for it, then how much
amount paid by A ?

(1) 900 (2) % 1,000

(3) ¥ 1,200 (4) %2950

80. Which number must be added to

each term of the ratio 2 : 5, so that it
may equalto5:6 ?

(1) 12 (2) 11

3) 13 4) 14

81. Monthly magazine 'Hariprabha' is

published by :

(1) Information and Public Relations
Department

(2) Haryana Sahitya Academy
(3) Haryana Sanskrit Academy
(4) Haryana Hindi Granth Academy

82. Who among the following is the

recipient of 'Padma Bhushan' in 2021 ?
(1) Jai Bhagwan Goyal

(2) Virendra Singh

(3) Tarlochan Singh

(4) Mukesh Singh


https://applink.adda247.com/d/XhqWf9lSap
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83. T/TEl & fafed Hifm, Ford/fm
A P oo e @
() svERd
(i) I AT B AT FAA
(iii) P
(iv) FR =l
F&l FT H TAT BT :
(1) F=a (i)
(2) (i) 3 (i)
(3) (i), (i) AR (iii)
@) (i), (i), (iii) 3 (iv)
Freffad & @ feg <& &1 ST
O GIT B 7
T
(1) gT&
(2) F=1

SEYLIRSE]

— HT H TErSA
(3) ARFYEl  — faiees @ veieEr
(4) T — AR # veIEEr

85, Mg # ¥ M 99w w@
BRI Ie= FERE & g g
% @9 ¥ ®Y 78 fea ?

(1) Sii&d g% I

(2) SIRed To Ho Hiwd
(3) SIR<" THo THo i
(4) Jfeq Ho1g R id

‘FIOTETg 39 Y9 @ AR ©

() eREen @ § QA U R
GRECICaE I

(2)%—Wﬁﬁ%ﬁﬁ$;ﬁ P I
EEACES] G EE
F &g

() RE@El WEea  HHE @
ST JEEe # o Ted qeN

FTT 5]
© A g @ e @

4) &
AU I iedlied HIH &Y
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[A]

Identify the text/texts, in which the
reference of Thanesar is found :

(1) Harshcharit

(i1) Travelogue of Yuvan Chang
(i11) Kadambari

(iv) Karpur Manjari

Choose the correct code :

(1) Only (i)

(2) (1) and (i1)

(3) (1), (i1) and (iii)

4) (1), (i1), (iii) and (iv)

84. Origin of the which of the following

rivers is not correctly matched ?

River Origin Site
(1) Saraswati  — Dangushai
(2) Indori — Mewat hills
(3) Markanda  — Sivalik hills
(4) Tangdi — Morni hills

85. Who among the following did not

serve as the Chief Justice of the
Punjab and Haryana High Court ?
(1) Justice Mukund Mudgal

(2) Justice A. K. Sikri

(3) Justice M. S. Jain

(4) Justice Sanjay Kishan Kaul

86. 'Pran Vayu Devata Pension Scheme'

is aimed to :

(1) Conserve older trees in Haryana
State

(2) Provide financial assistance to
the non-government doctors in
their old age

(3) Provide economic relief to the
non-government paramedical
staff in their old age

(4) Encourage plantation of Tulsi
and Giloya in urban households

P.T.O.
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81.

eY

frfoiea s & Togue § §

e e 98 T Ted g ger ?

(1) o THo Tghaql

(2) TmIG b &

(3) So TFo &l

(4) GER Tdo THo T

Recll-T3  SlElie HReR & i

g ¥ wwaifad faw asveienfie

?ﬁ@a&ﬁﬁmﬁﬁﬁaﬁﬁ-mw
?

(1) BIEEE — yaad shenfies &=

(2) WWE — RER fEy &
(3) Sl — WU Fasr &=
(4) IMEX — 9O9 a9 &8

89. ERAMM % JdT TENT oM fFY W

A & aR | A e
H TR H B

(1) o9

(2) gl

(3) 99

(4) T g |q9

sRaeT & Reciedl gmr < Wit
2021 7 Sfid T HAT TC@F ¢ -

ooooooooooo

(1) 04
(3) 08

(2) 06
4) 19

[18]

GET IT ON
Google Play

81. Who among the following Governors

of Haryana died while in the office ?
(1) B. N. Chakraborty

(2) Ranjit Singh Narula

(3) J. L. Hathi

(4) Sardar H. S. Brar

88. Which of the following is not true

89. The

about the proposed investment region/
industrial area under Delhi-Mumbai
industrial corridor in Haryana ?

(1) Faridabad — Palwal Industrial

area
(2) Rewari — Hisar investment
region
(3) Kundli — Sonipat investment
region
(4) Manesar — Bawal investment
region
Haryana  Public  Service
Commission presents its annual

report of the work done by the
commission to the :

(1) Governor

(2) President

(3) Parliament

(4) State Legislative Assembly

90. The total number of medals won by

the athletes of Haryana in the Tokyo
Paralympics 2021 are :

(1) 04 (2) 06
(3) 08 ) 19

Level-3/311


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

eY

T

[19]

GET IT ON
Google Play

[A]

—IV (PART - IV)

Safes™ (BIOLOGY)
3T - R g7 % a7 &7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

91. TEIHAM IT BN B :

(1) TR et &
(2) Wi Yfeemran d
(3) afeT AT @

(4) fedfes wfdemet @

WEEQFT

v %%@@qgmﬁam%

(2) 79 F XO-TREE St
S| & BRI B

(3) gaem @& | 29 @@ W
it & T gfamedial 7 Rl s
U 1 AR &l e

(4)%@@%%@#@

93. UH SIS Ioaell S-U HU Rl wh

wﬁwﬁa%

(3) eHHSe
(4) Rfn

RIS &k 9T S @

(1) TpIicreed § (2) @y ¥

(3) FIR H (4) Hew H
fr=fefag ®o=t & @ G AT #
gedtell # el HH MEiRa i ¢

(A) Bt W 9Ras|

(B) THifhd  dO0EE  (9) e @
e Hehol|

(C) DNA ®S & Jgaa&vl dae &N
TR

Level-3/311

9l1.

Testosterone is produced by :
(1) Aciner cells

(2) Graffian follicles

(3) Leydig cells

(4) Hepatic cells

92. Selectincorrect statement :

(1) Heterozygous represents a pair
of contrasting traits of a character.

(2) XO-chromosomal abnormalities
in human being caused Down's
syndrome.

(3) Law of segregation is based on
the fact that alleles do not show
any blending.

(4) Hemophilia a
recessive disease.

is sex linked

93. Single pair excretory organ brown

funnels are associated with the group :
(1) Urochordata

(2) Cephalochordata

(3) Hemichordata

(4) Mammalia

Epidermal scales are present in :

(I) Scoliodon (2) Rabbit
(3) Pigeon (4) Frog
95. Determine correct sequence of

events in Southern Blotting from

following statements :

(A) Transport to a membrane.

(B) Hybridization with a labelled
probe sequence.

(C) Separation of DNA fragments by
electro-phoresis.

P.T.O.
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Fe T -

(D (A), (B), (O

(2) (B), (C), (A)

(3) (©), (A), (B)

4) (C), (B), (A)

FEFEa § F= OF ¥ e

YRSl 78 & 7
(1) QAT (2) AR

3) AT (4) IRHEATEA
97. YISIVE P & ded 7 = A §

HH-a1/H-8 F9 g& 2/2 7

(A) FETHS — D — FhlvEd
(B) Ueleies —  HiEeig®
IBISIEE)

(C) feaiv== g
FIATTB

7gl famq /2 :

(1) (A) & (B) &

(2) %ad (B)

(3) &ad (C)

@) (A), (B) ¥R (C)

“RTEET STaeT T ©

(1) TYIEE H  (2) FHIE B
(3) ®EULE H  (4) f&Uee @

99. ffafed & & H9-T1 a@ e §
JecHIE® ad 78 © !

(1) drefrm (2) e

(3) TR (4) T

el ERE 9 [ TEE
W%uwe’j@mé}?

(1) Sfo TRFI M
(2) T W g
(3) o= e
(4) MY et

Level-3/311
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Correct sequence is :
(1) (A), B), (C)
(2) (B), (C), (A)
(3) (O), (A), (B)
4 (O), (B), (A)

96. Which one of the following is not a

photoreceptor in vertebrate ?
(1) Cyanopsin (2) Chlorocruorin

(3) Idopsin (4) Porphyropsin

97. Which of the following is/are correct

sequences in reference to geological
period ?
(A) Triassic — Jurassic — Cretaceus

(B) Paleozoic — Mesozoic —
Cenozoic

(C) Devonian —  Silurian —
Carboniferous

Correct options is/are :
(1) Both (A) and (B)
(2) Only (B)

(3) Only (C)

(4) (A), (B) and (C)

98. Bouquet stage is character of :

(1) Leptotene
(3) Pachytene

(2) Zygotene
(4) Diplotene

99. Which of the following element is

not a macro element in plants ?
(1) Potassium (2) Calcium
(3) Magnesium (4) Sulphur
The recipient of first Amrita Devi

Bishnoi National Award for Wildlife
Conservation was :

(1) Dr. Ragini Shah
(2) Ganga Ram Bishnoi
(3) Rajendra Singh
(4) Gauri Maulekhi
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fr=fofeg & § -1 JoeRig TRy
% foTY IERERATH® g & 7

ol
[

(1) G5k
3) C,=h (4) CAM =sh

g Th foerad a9
AN g & NefiFipd e s,
IGH S fqua -

(1) sgm

(2) ®H am

(3) I B S

(4) A9 W

T WS T A b g H o
Jufkerd o1 ?
(1) TEHI-1-TIgaR

(2) " Tl g i
(3) st A
(4) TG

PAR &I & & :

(1) 200 nm - 800 nm

(2) 400 nm - 700 nm

(3) 400 wm - 700 um

(4) 200 um - 800 wm

Frffad & @ Rl W A ordd
wd faweiy aafif JeiRa & o 7

(1) giieln RSN
(3) TMET HeX e
EELES I

(1) 3 IRYITGHT Bl 8
(2) g% farfe® o SURYT eIl ©

(3) T Frarfes RRT STuRe kil &
(4) TH THH T AT AT 2

%ﬂi%r L 11 R 15 ) < TS |
(1) FrREE (2 R
(3) HEARE (4) Seneierad
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[A]
Which of the following is a
physiological adaptation of desert
plants ?

(1) C5Cycle
(3) G, Cycle

If a solution is subjected to a
pressure greater than atmospheric
pressure, its water potential :

(1) Increases

(2) Decreases

(3) Becomes zero

(4) Remains unaffected

(2) C4Cycle
(4) CAM Cycle

What was present in the milk of first
transgenic cow 'Rosie’ ?

(1) Alpha-1-Antitrypsin

(2) Human alpha lactalbumin

(3) Bt protein

(4) Insulin

PAR range is :

(1) 200 nm - 800 nm
(2) 400 nm - 700 nm
(3) 400 wm - 700 um
(4) 200 um - 800 pm

In which of the following, flowers
exhibit both radial and bilateral
symmetry ?

(1) Hollyhock (2) Sunflower

(3) Garden Pea (4) Marigold

In Petromyzon :

(1) Liver is tetralobed

(2) Renal portal system is present
(3) Hepatic portal vein is absent
(4) A Lymphatic system is present

Orientation based
called :
(1) Mnemotaxis (2) Menotaxis

(3) Kinesis (4) Telotaxis
P.T.O.

on memory
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108. 3iHY FH H FEHHT AT B
(1) YSifew™ arar
(2) Heraiaar drar
(3) @RI ARAT
(4) TR AR

T H=BY % < § F& BT g
(1) 3 HAERRA H W FE 8

(2) ST e B wa e §
T TR § G Bkl ol
(3) HfsTeq g5 & TNM B ©

glrﬁ B AP H THM ST B
l
(4) | & fem o A (FA 81
It ar) B 2
Fret & & $i-a1 agi fadife 9
7&T a & 7
2) e

(1) M
(3) T =X (4) Feed I

IS B -

(1) WEHIMEE  (2) TEHNS
(3) Uifafeiie  (4) SEEBUES
HIDol HT o1 B -

(1) SRR B YA BT

(2) fIsaT @1 ITART HEN

(3) T H ITAN HET

(4) 919 FH START FHCA
fr=ifeifeg & & @9-91 RNA 9Ea:
S fasaser 8 Jge &I & ¢

(1) 16 STRNA (2) 5SrRNA
(3) 28 STRNA (4) hn RNA

gffeeae Melhid TS 8 -

(1) ardERene qRadd & 959 9

(2) 9qqd fqeE 9

(3) Sig-fafaear @ @

(4) NIM TG & & FA A GG o
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108. Infective stage of Hook worm is :
(1) Rhabditiform larva
(2) Metacercaria larva
(3) Cercaria larva
(4) Filariform larva

109. Select frue statement about male
mosquitoes :
(1) They are blood suckers of
vertebrates.
(2) Their hypopharynx is less
developed and fused with
labium.

(3) Mandibles are needle like and
are serrated broad saw shaped.

(4) Antennae of male are pilose
(with few short hair).

110. Which one of the following is not
form multimale bisexual group ?
(1) Gorilla (2) Rhesus
(3) Patas monkey(4) Squirrel monkey

Fertilizin is :
(1) Glycoprotein (2) Glycolipid
(3) Polylipid (4) Disaccharide

Coprophagy means :

(1) Consumption of blood
(2) Consumption of faeces
(3) Consumption of stems
(4) Consumption of grass

Which of the following RNA is
commonly used for phylogenetic
analysis ?

(1) 16 STRNA (2) 5 SrRNA

(3) 28 STRNA (4) hn RNA

Montreal Protocol is concerned with :
(1) Mitigation of climate change

(2) Sustainable development

(3) Biodiversity conservation

(4) Substances that deplete ozone layer

ot
ot

ot
ot

ot
ot

ot
ot
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Shine-Dalgarno sequence is present
on :

(1) rRNA
(3) mRNA

(2) tRNA
(4) Initiation factor
Select the incorrect statement in

reference to the Binomial
nomenclature :

(1) Each organism belonging to a
genus has a specific name.

(2) Same
given to organisms belonging to

specific name can be

different genera.

(3) Linnaeus used Latin for
Binomial nomenclature as it was

a dead language.

(4) Tautonyms are allowed in plants
and animals.

The correct sequence of the three
major stages of Calvin cycle from
beginning is :

(1) Regeneration, Reduction,
Carboxylation

(2) Reduction, Carboxylation,
Regeneration

(3) Carboxylation, Reduction,
Regeneration

(4) Carboxylation, Regeneration,
Reduction

Which of the following plant group is
known as the 'vascular cryptogams' ?

(1) Algae

(2) Bryophytes
(3) Pteridophytes
(4) Gymnosperms
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Which of the following is an
example of a living plant cell, devoid
of nucleus ?

(1) Companion cell

(2) Endosperm cell

(3) Sieve cell

(4) Sclereids

The cells of which of the following
of
multinucleated due to endomitosis ?

(1) Nucellus (2) Endothecium
(3) Middle layer (4) Tapetum

layers the anther wall are

Trochophore larva appears in the
development of following animal

groups :

(1) Annelida, Mollusca and
Echinodermata

(2) Arthropoda,  Annelida  and
Echinodermata

(3) Arthropoda, Echinodermata and
Coelenterata

(4) Annelida, Mollusca and Bryozoa

Which one of the following is result of
inborn error of nucleic acid
metabolism ?

(1) Hartnup disease

(2) Fabry's disease

(3) Lesch-Nyhan syndrome

(4) McArdles syndrome

Which of the following enzyme
declines in specific activity during tail
regression of frog metamorphosis ?
(1) Cathepsins

(2) Acid phosphatase

(3) Mg++ activated ATPase

(4) Ribonucleases
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Which of following belongs to non-
extinct infraclass of mammalia ?
(1) Eotheria
(2) Allotheria
(3) Ornithodelphia
(4) Pantotheria

Which set of plants bear cones ?

(1) Pinus and Riccia

(2) Equisetum and Marchantia
(3) Cycas and Pinus

(4) Salvinia and Funaria

Metanephros kidney formed from the :

(1) Anterior end of pleuroperitoneal
cavity

(2) Middle part
coelom

of intermediate

(3) Posterior end of the nephrogenic
mesoderm.

of

(4) Anterior part intermediate

coelom

Hemerythrin :

(1) It is a molecule which use
copper atom to bind oxygen.

(2) There is no haem in this and Iron
atom are bound directly to the
protein.

(3) Itis present in Arthropods.

(4) It is green when oxygenated and
pink when deoxygenated.

Niacin is synthesized from :
(1) Threonine  (2) Tryptophane
(3) Methionine (4) Isoleucine

P.T.O.
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Calcium carbide powder which is
used for artificial ripening of fruits,
produces :

(1) Jasmonic acid

(2) Gibberellins

(3) Ethylene

(4) Acetylene

The curd formed by the action of
lactic acid bacteria on milk, is rich in :
(1) Vitamin C  (2) Vitamin A

(3) Vitamin B, (4) Vitamin D

The muramic acid is present in the
cell wall of :

(1) Mycoplasma

(2) Blue green algae

(3) Moulds

(4) Lichens

Select the incorrect statement in

reference to Krebs cycle :

(1) The cycle starts with
condensation of acetyl group
with pyruvic acid to yield citric
acid.

(2) A molecule of GTP is
synthesised during conversion of
succinyl CoA to succinic acid.

(3) At one point in the cycle, FAD"
1s reduced to FADH,.

(4) NAD" is reduced to NADH + H*
at three points in the cycle.

Which one of the following is not a
measure for soil conservation, in
modern times ?

(1) Terracing

(2) Windbreaks

(3) Jhum cultivation

(4) Crop rotation
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An example of alien weed species in
India is :
(1) Carrot grass
(2) Prosopis cinereria
(3) Melia azadirach
(4) Acacia nilotica

3GTPyPuACS5 5 CAPuPyT
G3

is the restriction site of which

enzyme ?
(1) Bam HI (2) EcoRI
(3) Hind I (4) Hind I

Ecology equivalents is best defined

by :

(1) Organisms that occupy the same
or similar ecological niche in
different geographical region.

(2) It is the population of
individuals of only one species.

(3) It is the ultimate distributional
unit within which each species is
held by its structural and
instinctive limitations.

(4) It 1s concerned with the trophic
position of an organism.

Match the following :
A. Tight junction i. Macula adherence
B. Belt desmosomes  ii. Zonula occludens
C. Spot desmosomes iii. Macula communicans
D. Gap junction iv. Zonula adherens

Correct option is :

A B C D
(i i i v
Qi iv i i
@) ii i iv i
@i i i iv
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Which tissue is not a result of
re-differentiation ?

(1) Cork

(2) Phellogen

(3) Secondary cortex

(4) Secondary xylem

Which of the following is not a
microbody ?

(1) Peroxisome (2) Glyoxisome
(3) Sphaerosome (4) Centrosome

Branchiostoma has :
(A) Exoskeleton

(B) Gonoduct

(C) Heart

(D) Colorless blood
Correct option is/are :
(1) Only (A)

(2) Only (A) and (B)
(3) Only (C) and (D)
(4) Only (D)

First Human
discovered by :
(1) Rono Konopka
(2) Seymour

(3) Ying-Hui-fu
(4) Hee Supshia

In Crustacean's moulting meaning of

"Anecdysic cycle" is :

(1) Intermoult is short and premoult
is long.

(2) Intermoult is long and premoult
is short.

(3) Intermoult and premoult are of
same duration.

(4) Formation of new exoskeleton is
incomplete and needed ecdysone
hormone for completion of
exoskeleton.

clock gene was
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[A]

143. Consider the following statements,

ol

ot

ot

select correct ones :

(A) Larynx is associated with
breathing movements.

(B) Trachea 1s lined with ciliated
squamous epithelium.

(C) Croup is
reproductive tract.

a disease of the

(D) Lung pinprick condition is an
immunological disease.

The correct statements are :

(1) All

(2) (A), (B) and (C)

(3) (B), (C) and (D)

(4) (A) and (D)

The number of categories of
ecosystem services as defined in
MEA 2005 is :

(1) Three (2) Four

(3) Five (4) Six

Genetically different type of pollen

grains are brought to the stigma

during :

(1) Chasmogamy

(2) Geitonogamy

(3) Xenogamy

(4) Cleistogamy

Ribozymes are :

(1) Proteinaceous biocatalyst

(2) Allosteric enzymes

(3) Enzymes
ribosomes

present only in
(4) Non-proteinaceous biocatalyst

P.T.O.
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Select correct statement :

(1) Predators maintain the diversity
1n a community.

(2) Limited resource supply leads to
unlimited growth of population.

(3) All plants show seed dormancy.

(4) The species that invade a bare
area is called climax.

Suppose a gene contain the
following double stranded sequence :
5'- ATGTTTAGCGCC 3'

3'- TACAAATCGCGG 5

If the top strand is the "sense strand"
and codes for a mRNA, which of the
following would be the sequence of
the corresponding segment of
"antisense RNA" ?

(1) 5 AUGUUUAGCGCC 3'

(2) 5' CCGCGAUUUGUA 3'

(3) 5 UACAAAUCGCGG 3

(4) 5' GGCGCUAAACAU 3

Consider the following statements

and select the incorrect one in

reference to the genetic code :

(1) There are 64 codons.

(2) The codon AUG has
functions.

(3) Three codons do not code for
any amino acid.

(4) Each amino acid is coded by a
separate codon.

dual

The ultimate source of energy for a
detritus food chain is :

(1) Green plants (2) Dead wood
(3) Sun (4) Soil

Level-3/311
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